
 

 

 

 

 

1 1 3.2 10−8(C) 1  

1.6 10−19(C)  

 

 

2 A B A  𝑞 B  3𝑞  

 𝑟 2  

 𝑟  

 𝑘  

 

 

 

 𝐿 2  𝑚 A B  

45 A B  

 𝑘  𝑔 2  

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



 

 

 

 

 

4.0 103(N/C)  

1.6 10−19(C)  

 

 

AB  √2𝐿 ABC A  𝑞 B  

 𝑞 AB C  

 𝑘  

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



 

 

 

 

 

 𝑅  𝑄  𝑟 (  𝑅 )  

 

 𝑘  

 

 

 𝑄  

 𝑟  

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



 

 

 

 

 

A B  𝑉  𝑒  

 

  (1) A B  

(2) B A  

(3) A B  

(4) B A  

 

 

2 A B A B  𝑉 A B  

 𝐿  

(1) AB  

(2) A  𝑚 𝑄 B  

 

(3) AB  𝑚
 1 

 2 
𝑄 B  

(2)  

 

 

V/m N/C 2  

 

 

𝑄  𝑟  𝑚 𝑞  

𝑄  2𝑟  

 𝑘  

 

 

 𝑟 2 A B 2𝑞 𝑞  

AB 0  

 

 

 

 



A B  𝑞  𝑊 A B 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



 

 

 

 

 

A B  

A B A B  

 

 

 

 

 A                   B 

 

 

 

 


